Formative Assessment:      Equations of Motion No 5   

A car travelling in a 50K area is moving with a velocity of 15ms-1.  At the 50 to 100K boundary it accelerates to 30ms-1 in 4s.  Show that the cars acceleration is 4ms-2.

Students succeed well in Physics when ‘show’ answers 

· Show all working i.e., equation, substitution and answer. (C1), 
· Have correct significant figures (C2)
· Have the correct unit (C2)
Write down the five symbols used in equations of motion and insert what we know from the question.  (The mnemonic to remember is duvat)

	d
	?

	u  (vi)
	15ms-1

	v  (vf)
	30ms-1

	a
	?

	t
	4s


Select an equation so that there is only one unknown in the equation.

v = u + at


Now rearrange this equation to make the ’a’ the subject of the formula.

( 
a = 
[image: image1.wmf]

Substitute the above values into the equation 

( 
a = 
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(

a = 3.75



a = 3.75  this demonstrates to the marker that the answer has been worked out and not ‘fudged’
Now write down the answer to the correct significant figure.  

(  ANS  a = 4ms-2 (1 sig. fig)
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